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C A S S G G S N T
tgt gcc agc agt ggc ggg tcg aac acc gggacagggggc 1 5 10

agt ggc ggg tcg gggacagggggc
agt ggc ggg tcg gggacagggggc
agt ggc ggg tcg gggacagggggc
agt ggc ggg tcg gggactgggggggc
agt ggc ggg tcg gggactgggggggc
agt ggc ggg tcg gggactgggggggc
agt ggc ggg tcg gggactgggggggc
agt ggc ggg tcg gggactgggggggc
agt ggc ggg tcg gggactgggggggc

tgt gcc agc agc ggg ggg agt aac acc gggactgggggggc 1 4 2
agc ggg ggg agt gggactgggggggc

tgt gcc agc tcc ggg ggc tca aac acc gggacagggggc 1 4 2
tcc ggg ggc tca gggactgggggggc

tgt gcc agc agt gga ggt tca aac acc gggacagggggc 1 3 1
tgt gcc agc agt ggt ggt tca aac acc gggactgggggggc 1 3 1
tgt gcc agc tca ggg gga tca aac acc gggacagggggc 1 3 1
tgt gcc agc tcg ggg ggg tca aac acc gggactgggggggc 1 3 1
tgt gcc agc agt ggc ggg tca aac acc gggacagggggc 1 3 10

agt ggc ggg tca gggacagggggc
agt ggc ggg tca gggacagggggc
agt ggc ggg tca gggacagggggc
agt ggc ggg tca gggactgggggggc
agt ggc ggg tca gggactgggggggc
agt ggc ggg tca gggactgggggggc
agt ggc ggg tca gggactgggggggc
agt ggc ggg tca gggactgggggggc
agt ggc ggg tca gggactgggggggc

tgt gcc agc agt gga ggg tca aac acc gggacagggggc 1 2 1
tgt gcc agc tct ggg ggg tca aac acc gggactgggggggc 2 2 1
tgt gcc agc agc ggg ggg tca aac acc gggactgggggggc 2 2 2

agc ggg ggg tca gggactgggggggc
tgt gcc agc agt ggg ggt tca aac acc gggacagggggc 3 2 11

agt ggg ggt tca gggacagggggc
agt ggg ggt tca gggactgggggggc
agt ggg ggt tca gggactgggggggc
agt ggg ggt tca gggactgggggggc
agt ggg ggt tca gggactgggggggc
agt ggg ggt tca gggacagggggc
agt ggg ggt tca gggactgggggggc
agt ggg ggt tca gggactgggggggc
agt ggg ggt tca gggactgggggggc
agt ggg ggt tca gggactgggggggc

tgt gcc agc agt ggg gga tca aac acc gggacagggggc 4 2 13
agt ggg gga tca gggactgggggggc
agt ggg gga tca gggacagggggc
agt ggg gga tca gggacagggggc
agt ggg gga tca gggactgggggggc
agt ggg gga tca gggactgggggggc
agt ggg gga tca gggactgggggggc
agt ggg gga tca gggactgggggggc
agt ggg gga tca gggacagggggc
agt ggg gga tca gggactgggggggc
agt ggg gga tca gggactgggggggc
agt ggg gga tca gggactgggggggc
agt ggg gga tca gggactgggggggc

tgt gcc agc agt ggg ggc tca aac acc gggacagggggc 4 1 4
agt ggg ggc tca gggactgggggggc
agt ggg ggc tca gggacagggggc
agt ggg ggc tca gggactgggggggc

tgt gcc agc agt ggg ggg tca aac acc gggacagggggc 11 1 7
agt ggg ggg tca gggactgggggggc
agt ggg ggg tca gggactgggggggc
agt ggg ggg tca gggactgggggggc
agt ggg ggg tca gggactgggggggc
agt ggg ggg tca gggactgggggggc
agt ggg ggg tca gggactgggggggc

(Vβ8.3) tgt gcc agc agt gat ca aac acc
(Dβ1/Dβ2)
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